
Умножение числа 2 и на 2

Урок 1
Математика

2 класс
УМК «Школа России»



Какая фигура лишняя?



30158Произведение

331Множитель

1058Множитель

Молодцы!





2 + 2 + 2 = 6 (руб.)

2 • 3 = 6 (руб.)



2 + 2 + 2 + 2 + 2 = 10 (руб.)

2 • 5 = 10 (руб.)



2 + 2 + 2 + 2 + 2 + 2 + 2 = 14 (уч.)

2 • 7 = 14 (уч.)



2+2=4
2+2+2=6
2+2+2+2=8
2+2+2+2+2=10
2+2+2+2+2+2=12
2+2+2+2+2+2+2=14
2+2+2+2+2+2+2+2=16
2+2+2+2+2+2+2+2+2=18
2+2+2+2+2+2+2+2+2+2=20

 2·2=4
 2·3=6
 2·4=8
 2·5=10
 2·6=12
 2·7=14
 2·8=16
 2·9=18
 2·10=20



2 · 4 + 2 = 
8

10

2 · 4 - 2 = 
8

6

2 · 3 + 2 = 
6

8

2 · 3 - 2 = 
6

4

2 · 2 + 2 = 
4

6

2 · 2 - 2 = 
4

2



I день
II день
III день

-
-
-

12 ст.
 18 ст.

?

Ответ: 24 стула продали в третий 
день.

1) 12 + 18 = 30 (ст.) – в I и во II дни. 
2) 54 – 30 = 24 (ст.) – в III день.

54 ст.

Молодцы!

54 – (12 + 18) = 24 (ст.) – в III день.
 30 ст.



2 · 4 - 2
8

2 · 3    
6 6

=

4 · 2 
8

2 · 5 – 2     
10=

8

2 · 3
6

3 · 2    
6

=

5 · 2
10

2 · 5    
10

=
Молодцы!


